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Possible
No.
Relevant Possible Text Length of Possible Categories of
Domain of Language
Benchmarks Types Texts Item Types Comprehension
Tasks
Questions*
Access to e understand 2 eadvertisement | e Sentence Level One efillingina | eLiteral
the main ideas Structure: . chart/table .
Informa- e announcement approximately e [ntegration
tion and supporting . simple, 80— 100 e matching
. e conversation e Inference
details in a text compound and
seconds .
from Spo- . . . e multiple-
and use this einterview some complex
ken choice
knowledge as o message sentences
Texts needed ) Level Two e open-
e news report e Vocabulary:
) ) . . ended (e.g.
eidentify high frequency | approximately
eoral wh-questions
20% different text . words (related | 100 -120 q
presentation and sentence
types and use to general seconds
completion
this knowledge e speech issues) P )
as needed e story o Verbs: a esequencing

eidentify ex-
plicit opinions

and feelings

e ]ocate rel-
evant informa-
tion for a spe-

cific purpose

e weather report

variety of tense
forms, such as
past simple,
past
progressive,
present simple,
present progres-
sive, future,
present perfect,

imperative
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Possible

No.
Relevant Possible Text Length of Possible Categories of
Domain of Language
Benchmarks Types Texts Item Types Comprehension
Tasks
Questions*
Access to e understand 3 eadvertisement | e Sentence Level One efilling in a e Literal
: the main ideas .
Information . e article/report Structure: (two texts) chart/table e Integration
and supporting )
from L simple, o matchin
. details in a text ebook cover approximately g e Inference
Written and use this compound and
150 - 180 e multiple-
Texts knowledge as e brochure some complex
needed words choice
e comic strip sentences
e understand e open-ended
60% the structure o diary entry * Vocabulary:
. (e.g. wh-
and _ high frequency | Level Two
. ¢ e email questions
conventions o words (related (one text)
i and sentence
dlfferent text ° graph to general
types and use . approximately | completion)
this knowledge o letter issues / themes)
250-300 e sequencin
as needed « message o Verbs: a q g
. . words
*identify . variety of
different text e notice
d tense forms,
types and use o postcard N t
this knowledge such as pas
as needed ereview simple, past
eidentify eshort progressive,
explicit present simple,

opinions and

feelings

edraw
inferences

in order

to identify
points of
view in a text,
distinguishing
fact from

opinion

e extract/
interpret
information
from visual
data

expository text
e story

e timetable/

schedule

e travel guide

present
progressive,
future, present
perfect,

imperative
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www.education.gov/rama for details.

Relevant No. of Possible Text
Domain Length of Tasks Assessment Criteria
Benchmarks Tasks Types

Written e describe people, 2 Level One e article (e.g. Communicative

Presentation | places, things and 50 — 70 words for school Ability
events newspaper) erelevance

20% ereact to the con- Level Two e description o clarity of message
tent of something 80 — 100 words e extended e organization
read or seen form e appropriateness to
e produce a short o friendly letter text type
piece of coher- e short e vocabulary
ent writing that composition e length
conveys personal e story
experiences Accuracy
eexpress ideas euse of basic gram-
and opinions matical structures
about general e spelling
topics and experi- e basic punctuation
ences using main and capitalization
ideas and support-
ing details

Domain

Social Guidelines to be posted at a later date. See www.anglit.net and/or
Interaction

* Categories of Comprehension

Lower Order Thinking Skills (LOTS)

Literal Comprehension: Literal comprehension refers to an understanding of the explicit meaning of a

text. Questions that require literal comprehension include items that can be answered directly from the

text at the sentence level. They can be questions that require either copying or rephrasing of information

from the text.

m7own 1 aneb nvaavn nowa nvhaina avp man - b RNt
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Higher-Order Thinking Skills (HOTS)

Integration: Integration refers to an understanding of the explicit meaning of a text but also requires
accessing information from various parts of the text in order to answer a given question. Questions
that require integration include items that require thinking about how ideas or information in the

passage relate to each other as well as to an understanding of its main idea and supporting details.

Inference: Inference refers to an understanding of the implicit meaning of a text. Questions that require
inference include items that involve combining the pupils’ literal understanding of the text with their own
knowledge and experiences in order to produce a response that is not explicitly stated in the text. It also

entails questions that require identification of a specific text type.

11
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Access to Information Level of Difficulty
Access to Information from Written Texts Written Presentation
from Spoken Texts Comp. level*
Benchmarks Benchmarks Benchmarks Estimated
Understand Understand Understand Understand Understand Draw infer- Extract React to the Express ideas
the gen- the general the general the general the structure | ences in order | relevant content of and opinions
eral meaning, | meaning and | meaning, meaning and | and to identify the | information something about general
main ideas supporting main ideas supporting conventions | points of view [ for a specific | read, seen or | topics and
and sequence | details in a and sequence | details in a of different in a text, purpose from | heard experiences
of events text and use of events text and use text types distinguishing | different using main
in a text this in a text this and use this fact from sources and
and use this knowledge as | and use this knowledge as | knowledge as | opinion supporting
knowledge as | needed knowledge as | needed needed ideas
needed needed (Foun-
(Foundation) dation)
Task 1
1. 11 Literal 1
1.12 Literal 1
1_1_3 Literal 1
12 Integration |2
1.3 Literal 2
Task 2
2_1 Literal 2
22 Literal 1
23 Literal 2
2.4 Literal 2
25 Literal 2
2.6 Inference |2
2.7 2-3

13
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Access to Information Level of Difficulty
Access to Information from Written Texts Written Presentation
from Spoken Texts Comp. level*
Benchmarks Benchmarks Benchmarks Estimated
Understand Understand Understand Understand Understand Draw infer- Extract React to the Express ideas
the gen- the general the general the general the structure | ences in order | relevant content of and opinions
eral meaning, | meaning and | meaning, meaning and | and conven- | to identify information something about general
main ideas supporting de- | main ideas supporting tions of differ- | the points of | for a specific | read, seen or | topics and
and sequence | tails in a text | and sequence | details in a ent text types | view in a text, | purpose from | heard experiences
of events and use this of events text and use and use this distinguish- different using main
in a text knowledge as |in a text this knowl- knowledge as | ing fact from [ sources and
and use this needed and use this edge as needed opinion supporting
knowledge as knowledge as | needed ideas
needed needed
(Foundation) (Foundation)
Task 3
3_1 Literal 2
32 Literal 1
3_3a Literal 2
3_3b Literal 2
3.4 Inference 2
3.5 Integration |2
Task 4
4 1 Literal 3
4 2 Literal 2
4 3 Literal 3
4 4 Integration |3
4_5a Literal 1
4_5b Literal 1
4 5¢ Literal 1

14
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Access to Information Level of Difficulty
Access to Information from Written Texts Written Presentation
from Spoken Texts Comp. level*
Benchmarks Benchmarks Benchmarks Estimated
Understand Understand Understand Understand Understand Draw infer- Extract React to the Express ideas
the gen- the general the general the general the structure | ences in order | relevant content of and opinions
eral meaning, | meaning and | meaning, meaning and | and conven- | to identify information something about general
main ideas supporting de- | main ideas supporting tions of differ- | the points of | for a specific | read, seen or | topics and
and sequence | tailsin atext |and sequence | detailsina ent text types | view in a text, | purpose from | heard experiences
of events and use this of events text and use and use this distinguish- different using main
in a text knowledge as | in a text this knowl- knowledge as | ing fact from | sources and
and use this needed and use this edge as needed opinion supporting
knowledge as knowledge as | needed ideas
needed needed
(Foundation) (Foundation)
Task 5
5_CA 2
5_AC 2
Task 6
6_1 Integration |2
62 Integration |3
6_3 Literal 2
6 4 Literal 3
6_5 Inference |3
6_6 Literal 3
6. 7 Inference 3
Task 7
7_CA 3
7_AC 3

15
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2008 ( LAy Blusise «polill Guall & jalaill &alll 3 Glaiedd abilayl Jaks

* For all questions, if the pupil has not marked/written an answer, mark the “n.a.” (no

answer) box on the Scoring Form.

* For multiple-choice questions (CL), mark the pupil’s answer on the Scoring Form

(whether or not the pupil’s answer is correct).
* For open-ended questions (OP):

1. Give an appropriate score based on the scoring instructions below.

2. Accept any answers that convey the same meaning as those in the scoring key below.

3. Do not deduct for grammar or spelling mistakes unless indicated.

TASK 1: Access to information from spoken texts
Task Item # Item Type Answer Key Coding
Range
1_1_1 CL I=(e) 0,1
0 = Other
1_1.2 CL 1=(f) 0,1
0 = Other
1_1.3 CL 1 =(a) 0,1
0 = Other
1.2 CL 2 = (a) summer activities for teenagers. 0,2
0 = Other
1.3 CL 2 = (a) to Splash. 0,2
0 = Other
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TASK 2: Access to information from spoken texts

Task Item # | Item Answer Key Coding
Type Range
2.1 OPpP 2 = talk; answer (questions); tell; explain 0,2
0 = Other (e.g know; popular)
22 OP 2 = vanilla 0,2
0 = Other (e.g. chocolate; mango)
2.3 CL 2 = (a) what you need to make ice cream. 0,2
0 = Other
2.4 OP 2 = air 0,2
0 = Other (e.g. milk and sugar and fruit; milk)
2.5 CL 2 = (¢) Ask Your Question. 0,2
0 = Other
2.6 CL 2 = (b) website. 0,2
0 = Other
2.7 (0)% 2 = Content is relevant and comprehensible; use of 0,1,2

appropriate question word / phrase
1 = Content is relevant but not entirely clear; question
word / phrase does not correspond to content
0 = Content is irrelevant and is incomprehensible.
Also answers such as: I don’t know; nothing.
No answer.

One of the statements from item 3 is copied.

23
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TASK 3: Access to information from written texts

Task Item # | Item Answer Key Coding
Type Range
3_1 0] 4 = He loved going on (long) walks; He loved 0,2,4
listening to (the) stories (that the guides told
(him / them)

2 = stories; walks
0 = Other (e.g. love going on long walks; school
trips; loved)

3.2 opP 4 = they are (lots of) fun / full of surprises 0,2,4
2 = (of) fun / (of) surprises
0 = Other (e.g. He lots of fun and full of surprise.)

3_3a 0] 2 = The pupils 0,2
0 = Other
3 3b OP 2 = what they (the pupils) learn in history or 0,2
geography; what the teachers teach in history or
geography
0 = Other (e.g. what they like)
3.4 (0] 3 = (He thinks) (it’s the) best job (in the world) / fun; 0,1,3

He thinks is fun.
1 =T have the best job in the world.
0 = Other (e.g. Amit think of his job as a tour guide in

the world.)
35 CL 3 = (d) a newspaper. 0,3
0 = Other
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TASK 4: Access to information from written texts
Task Item # Item Type Answer Key Coding
Range
4 1 OP 4 = She/Gilda had a sore (on her foot / leg). 0,2,4
The elephant had a sore (on her foot /
leg). She needed to protect the sore on
her foot / leg.
2 = asore; protect
0 = Other (e.g. The doctor took care of the
sore.)
4 2 CL 3 = (b) He makes shoes. 0,3
0 = Other
43 oP 4 = He (the shoemaker/Mr. Smith) had never 0,2,4
heard of shoes for elephants; because he
needed to make a shoe for an elephant
2 = Gilda/ the elephant needs a shoe
0 = Other (e.g. for an elephant; because the
doctor asked to make a shoe.)
4 4 OP 3 = an elephant shoe; the biggest shoe in the 0,2,3
world
2 = shoe(s)
0= Other (e.g. Gilda, the elephant; Book of
Records; information)
4 5a 0] 2=+ (In the News Report) and \ (In the 0,2
Book of the Records)
0 = Other
4_5b CL 2 =  (In the News Report) 0,2
0 = Other (no other option)
4_5¢ CL 1 = v (In the Book of Records) 0,1
0 = Other (no other option)

25
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TASK 5: Written presentation

Task Item # Item Type Answer Key Coding

Range
5_CA Communicative Ability OP See instructions below 0-6
5_AC Accuracy OP See instructions below 0-4

Evaluate the task according to the scale below, which describes writing performance

at different levels: 6, 4, 2 for Communicative Ability and 4, 2, 1 for Accuracy. The intermediate

levels (5 and 3) are for levels of writing that fall between the detailed descriptions. The pupils

should receive one grade for Communicative Ability and one for Accuracy for the entire task.

Communicative Ability

Accuracy

* The information is relevant to
the topic

e The message is clear

* The text is organized

* Vocabulary is varied and

Correct simple sentence structure
(subject, verb, and correct word order);
Occasional errors in more complex
sentences if attempted

Mostly correct subject-verb agreement,

appropriate tense, pronouns, articles, and prepositions
* Mostly correct spelling, punctuation, and
capitalization
5
* Most information is relevant to * Inconsistent use of simple sentence
the topic structure (subject, verb, and correct word
* The message is mostly clear order); Errors in compound or complex
* The text is mostly organized sentences if attempted
* Vocabulary is adequate and is 4 | * Some errors of subject-verb agreement,
generally appropriate tense, pronouns, articles, and prepositions
* Some errors in spelling, punctuation, and
capitalization
3
* Information is limited and * Incorrect simple sentence structure
/ or mostly irrelevant to the * Many errors of subject-verb agreement,
topic tense, pronouns, articles, and prepositions
* Message is difficult to 5 OR

follow
* Vocabulary is limited
* Less than 25 words

Not enough language to assess accuracy

Only copies instructions
Writes set(s) of isolated words
Does not write in English
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TASK 6: Access to information from written texts

Task Item Answer Key Coding
Item # Type Range
6_1 CL 3 = (d) the trash on the beach 0,3
0 = Other
62 OP 3 = Mark Halloway; the writer (and his friends); the boy 0,3
and his friends
0 = Other (e.g. Kids; instead of complaining)
6.3 OP 4 = clean up the beach; collect [trash / garbage / rubbish] 0,2,4
2 = clean; collect
0 = Other (e.g. walk along the beach; every summer;
clean up the sea)
6_4 0] 2 = jump into the water; went for a swim; swim; have fun 0-2
1 =fun
0 = Other (e.g. It felt good to have fun after all that hard
work; clean it)
6_5 OP 4 = filled more than 40 bags of [trash / garbage / rubbish]; | 0, 2, 4
worked for over 30 hours; cleaning up wasn’t easy;
bags were heavy
2= hard work; collected trash / garbage / rubbish; cleaning
up
0= Other (e.g. We met to clean up the beach.)
6_6 CL 3 = (d) when people keep the beach clean 0,3
0 = Other
6_7 CL 3 = (d) Teens Who Care 0,3
0 = Other

27
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TASK 7: Written presentation

Coding
Task Item # Item Type Answer Key

Range
7_CA Communicative Ability OP See instructions below 0-5
7_AC Accuracy 0] See instructions below 0-5

Evaluate the task according to the scale below, which describes writing performance

at three levels: 5, 3, and 1 for both Communicative Ability and Accuracy. The intermediate
levels (4 and 2) are for levels of writing that fall between the detailed descriptions. The
pupils should receive one grade for Communicative Ability and one for Accuracy for the
entire task.

Communicative Ability Accuracy
* The information is relevant to the  Correct simple sentence structure
topic (subject, verb, and correct word
* The message is clear order); Occasional errors in
* The text is organized compound or more complex sentences
* Vocabulary is varied and if attempted
appropriate 5 | « Mostly correct subject-verb 5

agreement, tense, pronouns,
articles, and prepositions

Mostly correct spelling,
punctuation, and capitalization

4 4
* Most information is relevant to the * Inconsistent use of simple sentence
topic structure (subject, verb, and correct
* The message is mostly clear word order); Errors in compound or
* The text is mostly organized complex sentences if attempted

* Vocabulary is adequate and is Some errors of subject-verb
generally appropriate 3 agreement, tense, pronouns, articles, 3

and prepositions

Some errors in spelling, punctuation,
and capitalization

Incorrect sentence structure
Many errors of subject-verb

* Information is limited and
/ or mostly irrelevant to the

topic agreement, tense, pronouns, articles,

* Message is difficult to 1 and prepositions 1
follow OR

* Vocabulary is limited * Not enough language to assess

* Less than 30 words accuracy

Only copies instructions

Writes set(s) of isolated words 0

Does not write in English
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Overview

The acronym Meizav (1790 12 NN MY >7T0), which represents the Hebrew terminology, has
been translated into English thus: Growth and Effective Measures of Schools (GEMS). As reflected
in the name, the GEMS, or Meizav, reflects a battery of tests, of which the English test is only one
component. We suggest that when analyzing the results teachers take note of data collected from the
other components, and integrate the information to provide a more comprehensive picture of their
school in terms of achievement in the core subjects (L1, Mathematics, English, Science), school
climate and pedagogical environment.

The internal Meizav English test covers two domains — Access to Information and Presentation.

The test was designed to assess the achievement of some of the benchmarks (in particular, those
benchmarks that can be assessed through more traditional testing procedures). The test is divided in
two parts due to logistic considerations. The first part is composed of two (2) listening texts designed
to assess the benchmarks in the domain of Access to Information from Spoken Texts. The second
part is composed of three (3) reading texts that are designed to assess the benchmarks in the domain
of Access to Information from Written Texts and two written tasks designed to assess benchmarks in
the domain of Presentation. Please note that the order in which the tasks appear in the second part:
two tasks (of graduated level of difficulty) within the domain of Access to Information; one written
Presentation task, followed by an additional task within the domain of Access to Information (highest
level of difficulty) within the domain of Access to Information, and a final written Presentation task
(more demanding than the previous written Presentation task).

The purpose of these guidelines is to provide teachers with a better understanding of the aims of the
Meizav English test and the test content. Included in this guide is a mapping out of the test together
with a detailed answer key for grading pupil performance. It also includes analyzed samples of pupil
performance, including common errors. This analysis may serve teachers in analyzing and interpreting
the results of their classes, diagnosing pupils’ strengths and weakness, as well as allowing comparison
of performance against national norms. From the analysis teachers may not only become aware of
pupils’ knowledge and abilities but also gain insights into the effectiveness of her or his instruction.

In analyzing pupils’ performance it is not always possible to pinpoint the source of an error and even
if the pupil is consulted at a later date, she or he may not remember why a certain response had been
selected. However, there are certain types of errors that may be considered a result of a common
cause(s). One common problem is that pupils may be functioning at word level rather than at sentence
and / or text level and the incorrect response may reflect this. Other common sources of error include
lack of the use of effective reading strategies (e.g. use of textual structure to enhance meaning) and
limitations in linguistic ability (e.g. changing the pronoun to suit the question).

In addition teachers need to be aware of a number of limitations in analyzing pupil performance:
a. an incorrect response may be the result of the student guessing the answer. Guessing
is a well-researched strategy in closed test items. Teachers wanting to find out more
about student response may want to change the question to an open one to glean more
information.
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b. no response may be the result of a number of factors: the pupil may have inadvertently
skipped a question, may not have understood the instructions, may not have understood
the question and what was expected of him or her, or not have been able to connect the
question and the relevant response. It is recommended that you mark unanswered questions
as “no answer” (n.a.) in order to see what item types may pose difficulty to the class as a
whole and to individuals. In some cases, you may want to ask the pupil why she or he did
not answer a particular item or items.

Regarding the two tasks in the domain of Presentation — Task 5 and Task 7 — it is important to note
that the analyses, insights from performance and pedagogical recommendations are based solely on
the written products and teachers should be aware of the limitations of these analyses. A teacher who
is grading her own pupils’ work will also be able to contextualize the analysis knowing the pupils and
their instructional setting. These sample analyses are aimed to serve as guidelines for assessing pupils’
work.

Teachers should note that besides the information gleaned from the test regarding individual pupil’s
progress and achievement, and mapping out class achievement, the test can also serve as a model in
designing future assessments. When doing so please pay attention to the levels of questions included
in the test and ensure that all levels of comprehension — literal, integration, inference — are given
appropriate representation. Also it is suggested that prior to assessing writing, share the assessment
rubric with the pupils. This enables them to have a clearer idea of what is expected of them.

39
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Mapping out of the English Meizav Test
Introduction

The map of the test consists of a general description of the each of the tasks, the text itself (where
relevant), and either item information, which relates to levels of comprehension' and levels of
difficulty?, or a rubric (where relevant).

For the tasks related to the domain of Access to Information from Spoken Texts, a description of
the text (text type, topic, linguistic aspects, length of texts), the transcript of the text, and test items
(number and type) are specified as well as recommendations for administration.

For the tasks related to the domain of Access to Information from Written Texts, a description of the
text (text type, topic, linguistic aspects, length of texts), and test items (number and type) are specified
as well as recommendations for administration.

For the tasks related to the domain of Presentation, a detailed rubric is included for each of the two
tasks (Tasks 5 and 7).

Note: Accept complete answers with grammatical and/or spelling errors, unless otherwise stated in a
specific item.

ILiteral Comprehension: Literal comprehension refers to an understanding of the explicit meaning of a
text. Questions that require literal comprehension include items that can be answered directly from the
text at the sentence level. They can be questions that require either copying or rephrasing of information
from the text.

Integration: Integration also refers to an understanding of the explicit meaning of a text but also re-
quires accessing information from various parts of the text in order to answer a given question. Ques-
tions that require integration include items that require thinking about how ideas or information in the
passage relate to each other as well as to an understanding of its main idea and supporting details.
Inference: Inference refers to an understanding of the implicit meaning of a text. Questions that re-
quire inference include items that involve combining the pupils’ literal understanding of the text with
their own knowledge and experiences in order to produce a response that is not explicitly stated in the

text. It also entails questions that require identification of a specific text type.

21 evels of Difficulty

1= 85%-100% - Low

2= 65%- 84% - Medium low
3= 40%- 64% - Medium high
4= 20%-39% - High

40
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Part 1
The first part of the Meizav English test relates to the domain of Access to Information from Spoken

Texts. This part is comprised of two listening tasks, sequenced in order of difficulty (Tasks 1 and 2).
Task 1

Discourse features (text description)

Text type: Advertisements.

Topic: Summer activities for teens.

Linguistic aspects of text: high frequency vocabulary; basic sentence structure; use of imperative form.
Length of text: approximately 100 seconds (not including Hebrew/Arabic instructions).

Item description

Total number of test items: 5

Item types: Multiple-choice (matching pictures, 3 pictures from 6 options).
Multiple-choice: 2 items, 3 options.

Total points for task: 7

Administration

The pupils hear the text twice. Allow time prior to listening for pupils to read the questions. There is
time allotted on the recording for pupils to check their answers prior to the second listening. Encourage
pupils to check their answers after completing the task.

Transcript

Ad1

Do something different this summer. Join the hip hop dance group in the Dance Center in town.
Learn to dance hip hop to your favorite music. The dancers meet every Tuesday afternoon at the Dance
Center. So what are you waiting for? Come to the center on Tuesdays with your friends and spend the
summer dancing hip hop together!

Ad 2

Do you like playing computer games? Do you want to write your own games? You DO?! Then
come to The Mouse House this summer — the BEST computer center in town. Learn how to write
computer games. It’s easy and fun for everyone. The group for teenagers meets on Monday mornings
from 9 to 12. The Mouse House is THE place for teens to be this summer.

Ad3

Come to Splash — the coolest water park in town! Come to our Summer Teen Days — every
Sunday and Wednesday! Spend the whole day at the water park. Splash has the highest slides and the
biggest pools just waiting for you and your friends! Teen Day at Splash - where you too can be cool in
the pool!

41
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Analysis of the transcript:
The considerations in designing this task were as follows:

(a) the text type of spoken advertisements is extremely common and therefore assumed to be part

of a pupil’s repertoire of text type knowledge.

(b)although there are three texts, and the requirements of the actual task are to relate to all three

integratively, they can still be considered to “stand alone”.

(C)the topic of the advertisements was chosen based on the experiences of eighth grade pupils and

assumed to be familiar to all.

(d)advertisements are characterized by the use of imperative voice. The imperative voice is

usually learnt in the foundation level in elementary school.

(e)sentences in advertisements are usually short and to the point.

(f) redundancy is a feature of oral advertisements and this supports pupils’ listening
comprehension.

Item breakdown

Item Information Answer Key Scoring Range
Items 1.1.1 - 1.1.3 I.1.1-e 0, 1 per item
Benchmark: 1.1.2-f

Understand the general meaning, main 1.1.3-a
ideas and sequence of events in a text
and use this knowledge as needed
Level of comprehension: Literal
Estimated level of difficulty:

1.1.1-1

1.1.2-1

1.1.3-1
Sample analysis of this item

The items:
Choose three (3) pictures that match the ads.

Item characteristics:
Closed (matching)

Considerations when designing the item:

To assess the ability to listen to a short text for general meaning and follow the
sequence in which the three ads are presented. Pupils need to be familiar with the
features of an oral advertisement.

Following analysis of pupils’ performance:
This item is expected to be easy since it was assumed that successful performance
indicates an understanding of the text type, and the ability to transfer what is heard to

a picture.
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Item Information Answer Key Scoring Range

Item 1.2 2 = summer 0,2
Benchmark: activities for
Understand the main ideas and teenagers

supporting details in a text and use this | 0 = other
knowledge as needed

Level of comprehension: Integration
Estimated level of difficulty: 2

Sample analysis of this item
The item:
‘What are all the ads about?

Item characteristics:
Closed (multiple-choice)

Considerations when designing the item:
To assess the ability to listen to three texts and identify what they have in common.
This requires the integration of information from all three ads.

Following analysis of pupils’ performance:
] Pupils choosing the correct answer have identified the common topic of all three

texts.
(] Pupils who chose either one of the distractors focused on only one particular ad.
Item 1.3 2 =to Splash 0,2
Benchmark: 0 = other

Understand the main ideas and
supporting details in a text and use this
knowledge as needed

Level of comprehension: Literal
Estimated level of difficulty: 2

43
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Item Information | Answer Key | Scoring Range
Sample analysis of this item

The item:
You want to spend the whole day with your friends. Where can you go?

Item characteristics:
Closed (multiple-choice)

Considerations when designing the item:
To assess the ability to pick up on the details of each summer activity and apply
that information in a different context.

Following analysis of pupils’ performance:

The options:
to Splash: Pupils who chose this option have correctly identified the ad and
the relevant detail needed to apply it in a different context.
to the Dance Center: Pupils who chose this option may either have not
identified the relevant ad, or the necessary detail.
to the Mouse House: Pupils who chose this option may either have not
identified the relevant ad, or the necessary detail.

Task 2

Discourse features (text description)

Text type: Interview.

Topic: Ice cream.

Linguistic aspects of text: high frequency vocabulary; basic sentence structure; tenses: primarily
present simple.

Length of text: approximately 150 seconds (not including Hebrew/Arabic instructions).

Item description
Total number of test items: 7
Item types: Multiple-choice: 3 items, 3 options.
Open: 2 items.
Open (sentence completion): 2 items.
Total points for task: 13

Administration

The pupils hear the text twice. Allow time prior to listening for pupils to read the questions. There is
time allotted on the recording for pupils to check their answers prior to the second listening. Encourage
pupils to check their answers after completing the task.
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Transcript
Nellie

Goodman:

Amir Kateeb:

Nellie

Goodman:

Amir Kateeb:

Nellie

Goodman:

Amir Kateeb:

Nellie

Goodman:

Amir Kateeb:

Nellie

Goodman:

Hello listeners! This is Nellie Goodman on Radio 6. Welcome to our
weekly radio program, "Ask Your Question." On our program, you ask
the questions and we answer them. The topic of today's program is ice
cream and our guest expert is Mr. Amir Kateeb. He has an ice cream
shop where he makes ice cream with his own special recipe. Welcome

to the show, Amir.
Good morning, Nellie. It’s nice to be here on “Ask Your Question”.

Now our first question. Miri from Haifa wants to know: What is the

most popular flavor of ice cream? She thinks that it’s chocolate.

Well, actually, vanilla is the most popular flavor, chocolate is second

and strawberry is third. But my favorite is mango ice cream.

Mango! Mmm...That’s sounds delicious! Now, our next question is
from Elena. She has a good question: What do you need to make ice

cream?

Not much. The main ingredients are milk, sugar, cream and some
flavoring, such as vanilla, chocolate or fruit. But did you know that

there is air in ice cream?

Really? How does air get into the ice cream?

To make ice cream, you have to mix and freeze all the ingredients
together at the same time. When you mix ice cream, air gets into it.
The air makes the ice cream soft. The more air you have, the softer the

ice cream is.

Thank you Amir. That’s all we have time for today. If you have more
questions about ice cream, you can go to the “Ask Your Question”
website at www.icecream-questions.com. Amir will be online now to

answer your questions.

Analysis of the transcript:
This text deals with ice cream which is always a ‘refreshing’ and ‘yummy’ topic!

It is an integrative text in that listeners need to understand the structure of a dialogue and the
relationship between the speakers, the context and the content.

45
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The considerations in designing this text were as follows:

(a)the text type of a dialogue in the context of a radio interview is familiar to pupils as is the topic
of ice cream.

(b)dialogues are characterized by turn-taking as the interlocutors (speakers) respond to each other.

(C)language depends on the context and the topic. General ideas are presented and thus the use of
present simple. Also it is a ‘question-answer’ session, thus the use of interrogative.

(d)although redundancy is not necessarily a distinct feature of interviews, redundancy has been
included to support listening comprehension.

Due to the fact that the text is of a more integrative nature, most of the questions are designed to assess
listening comprehension at the literal level.
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Item breakdown

Item Information Answer Key Scoring
Range

Item 2.1 1 = talk; answer questions; tell; | 0, 1

Benchmark: explain

Understand the main ideas and 0 = other (e.g. know, popular)

supporting details in a text and use
this knowledge as needed
Level of comprehension: Literal

Estimated level of difficulty: 2
Sample analysis of this item

The item:
Why is Amir Kateeb a guest on the radio program? Complete the sentence:

Amir Kateeb is on the radio program to about ice cream.

Item characteristics:

Open (sentence completion)

Considerations when designing the item:

To assess the ability to understand the purpose of the interview.

Following analysis of pupils’ performance:

[J Pupils who answered correctly have clearly understood the purpose of the
interview indicating that they have some understanding that purpose is expressed
using a verb. The fact that they are to complete a sentence and not answer a
question enables them to use the sentence structure as a scaffold for the use of a
verb.

I Pupils who answered incorrectly either have not used the correct part of speech

(popular), or have used a verb that is not related to the purpose (know).

Item 2.2 2 = vanilla 0,2
Benchmark: 0 = other (e.g. chocolate,
Understand the main ideas and mango)

supporting details in a text and use
this knowledge as needed
Level of comprehension: Literal

Estimated level of difficulty: 1
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Item Information

Answer Key

Scoring

Range

Sample analysis of this item
The item:

What is the most popular flavor of ice cream?

Item characteristics:

Open (question)

Considerations when designing the item:

To assess the ability to identify an important detail.

Following analysis of pupils’ performance:

] Pupils who answered correctly have clearly identified the detail.

(] Pupils who answered incorrectly may either have depended on their own beliefs,

or picked up on one of the other flavors that are mentioned in the interview. Some

pupils may not have limited their answer to one flavor — thus indicating that either

they have not understood the question (the MOST popular flavor) or were just

writing all the flavors mentioned in the text and trying their luck.

[J If a pupil answer is anything other than an ice cream flavor, he or she has probably

not understood the question.

Item 2.3

Benchmark:

Understand the main ideas and and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Literal
Estimated level of difficulty: 2

2 = what you need to make ice
cream

0 = other

0,2
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Item Information

Answer Key

Scoring

Range

Sample analysis of this item
The item:

‘What does Elena want to know?

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:

To assess the ability to identify one of the main ideas presented as a question in the

text.

Following analysis of pupils’ performance:

what you need to make ice cream: Pupils who chose this option have

correctly identified the main idea (the ingredients needed to make ice cream)

that is encompassed in Elena’s question and connected it with Elena.

what makes ice cream soft: Pupils who chose this option may not have

identified the main idea, or not have connected Elena with the main idea in the

question.

what is the most popular flavor of ice cream: Pupils who answered

incorrectly may either have identified a different main idea, or not connected

Elena with the main idea in the question.

Item 2.4

Benchmark:

Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Literal

Estimated level of difficulty: 2

2 =air
0 = other (milk and sugar and

fruit; milk)

0,2
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Item Information Answer Key Scoring

Range

Sample analysis of this item
The item:

‘What makes ice cream soft?

Item characteristics:

Open (question)

Considerations when designing the item:
To assess the ability to identify an important detail that is part of the process of making

ice cream and described in the text.

Following analysis of pupils’ performance:

] Pupils who answered correctly have clearly identified the detail which is a part of
the process of making ice cream.

] Pupils who answered incorrectly may either not have followed the process of
making ice cream, or not realized that the question refers to a component of that

process, or not identified the relevant component.

Item 2.5 2 = Ask Your Question 0,2
Benchmark: 0 = other
Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Literal
Estimated level of difficulty: 2
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Item Information Answer Key Scoring

Range

Sample analysis of this item
The item:

What is the name of the radio program?

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:

To assess the ability to identify a detail in the text.

Following analysis of pupils’ performance:
Ask Your Question: Pupils who answered correctly have clearly identified the
detail, i.e. the name of the radio program.
Radio 6: Pupils who chose this option may have related to the name of the
radio channel and not the name of the particular program.
All About Ice Cream: Pupils who chose this option may have related to
the topic discussed on the radio program. This may reflect a more general

understanding of the text.

Item 2.6 2 = on the website 0,2
Benchmark: 0 = other
Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Inference.
Estimated level of difficulty: 2
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Item Information Answer Key Scoring

Range

Sample analysis of this item
The item:

After the program Amir Kateeb will answer questions on the ___.

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:

To assess the ability to make an inference that can be considered “low level” as the
‘jump’ from text to response is not great (inference requiring a ‘jump’ of some sort,
where the audience ‘fills in’ the information not stated explicitly). What is stated in the
text is “If you have more questions go to....” This item asks the pupil to infer an action

that will be taken by Amir Kateeb, i.e. where he will be available to answer questions.

Following analysis of pupils’ performance:
website: Pupils who chose this option have correctly ‘followed the jump’ and
were able to infer the future action to be taken by Amir Kateeb.
radio: Pupils who chose this option may have simply continued on with the
context and may not have made the inference, have not understood the text
itself, or the question.

telephone: Pupils who chose this option may have relied on their beliefs or

prior knowledge, or not understood the text or the question.
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Item Information Answer Key Scoring

Range
Item 2.7 2 = Content is relevant and 0,1,2
Benchmark: comprehensible; use of

React to the content of something
heard (Domain of Presentation)
Estimated level of difficulty: 2-3

appropriate question word
/ phrase.

1 = Content is relevant but not

entirely clear; question
word / phrase does not
correspond to content.
0 = Content is
incomprehensible.
Also answers such as:
I don’t know; nothing.
No answer.

One of the statements from

item 3 is copied.

Sample analysis of this item
The item:

What do you want to know about ice cream? Write a question to ask Amir Kateeb.

Item characteristics:

Open

Considerations when designing the item:

To assess the ability to respond appropriately to a text.

Following analysis of pupils’ performance:
Pupils who answered correctly have understood the text in terms of the questions
already asked, have asked a new question based on their own world knowledge and

interest in the topic.

As the focus was on listening comprehension and the content of their questions, no
points were deducted for grammatical errors. However the response by the pupil must
clearly be a question, i.e. a response such as ‘I like ice cream’ would be considered

wrong, whereas a response such as ‘When you eat ice cream?’ is acceptable.
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Sample performances:

Sample Sentences of a Score of 2
Can I make ice cream in my house?
Who discover for ice cream?
I want to know if most of the children like ice cream.
How long does it take to make ice cream?

When the first ice cream was sold?

Sample Sentences of a Score of 1
Who much flavor of ice cream we have?
[ Justification for score: the question word (who) does not correspond to the

content, and should be ‘how many’.

Who matz time I can do ice cream?
U Justification for score: the question word (who) does not correspond to the

content, and should be ‘how much’.

How much calori in ice cream?
U Justification for score: the question words (how much) do not correspond to the

content, and should be ‘how many’.

Sample Sentences of a Score of 0

How much you need for to make Ice cream?

U Justification for score: it is incomprehensible in terms of the purpose of the
question — is the question asking what ingredients are necessary to make ice
cream or how much of each ingredient is necessary, or how much time (how long)

it takes to make ice cream.

How match kain of ice cream?
U Justification for score: it is incomprehensible in terms of the purpose — is the

question asking about the different kinds of ice cream or the amount of ice cream.

n7own 1 aneb nvaavn nowa nvhaina avp man - b RNt

54



Part 2

The second part of the test relates to both the domain of Access to Information from Written Texts
(tasks 3, 4, and 6) and the domain of Presentation (Tasks 5 and 7). For each domain, the tasks are
sequenced in order of difficulty. The domains have been staggered as it was found, from previous years
of Meizav test administration, that if the two presentation tasks (writing) follow the three Access to
Information tasks (reading comprehension) many pupils do not complete the writing tasks. By placing
the first writing task after two tasks that involve reading, it has been found that more pupils produce a
written product.

Task 3

Discourse features (text description)

Text type: Interview.

Topic: School trip.

Linguistic aspects of text: high frequency vocabulary; basic sentence structure; tenses: present simple,
present progressive, future simple and imperative.

Length of text: approximately 100 words.

Analysis of the text:
This text deals with a school trip which is part of the school experience. The considerations in
designing this text were as follows:
(a)the text type of an interview in the context of a school newspaper is familiar to pupils.
(b)the interview is characterized by turn-taking as the interlocutors (speakers) respond to each
other and is presented in a question-answer format. Responses relate directly to the question,
but also include some kind of elaboration on the topic.
(C)language depends on the context and the topic. Thus, questions are presented in both the past
and present simple tense and responses make use of both these tenses.
(d)efforts were made to make the text “look like” a school newspaper and thus enhance
authenticity.

Item description

Number of test items: 6

Item types: Multiple-choice: 1 item; 4 options.
Open: 2 items.
Open (sentence completion): 1 item.
Open (table completion); 2 items.

Total points for task: 18

Administration

Encourage pupils to read the instructions (instructions appear in English and Hebrew/Arabic), to
familiarize themselves with the extra-textual features of the text prior to reading the test items and to
check their answers.
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Item Information Answer Key Scoring Range
Item 3.1 4 = He loved going on (long) 0,2,4
Benchmark: walks; He loved listening
Understand the main ideas and to (the) stories (that the
supporting details in a text and use guides told (him / them))
this knowledge as needed 2 = stories; walks
Level of comprehension: Literal 0 = other (e.g. I love going on
Estimated level of difficulty: 2 long walks; school trips;
loved)

Sample analysis of this item
The item:

What did Amit enjoy doing on school trips when he was young?

Item characteristics:

Open (question)

Considerations when designing the item:

To assess the ability to identify a supporting detail related to a main idea within the text.

Following analysis of pupils’ performance:

(] Pupils who answered correctly have selected the supporting detail and have also been
able to transform the sentence from first person in the text in first person to third person
in the question item.

] Pupils writing a single word (e.g. loved), may indicate that either they have not
understood the question, or incorrectly interpreted the instruction “give ONE answer”
as requiring a one-word answer.

[J The answer “loved” may indicate that the pupil has perhaps gone back to the text,
found the words (from the question) “school trips” and copied what came before.

[J' The answer “I love going .....” may indicate a general understanding of what is
required as well as the answer to the question, however the pupil has not taken it one

step further to describe Amit’s reason for enjoying school trips.

Item 3.2 4 = they are (lots of) fun / full of | 0, 2,4
Benchmark: surprises
Understand the main ideas and 2 = (of )fun / (of) surprises

supporting details in a text and use 0 = other (e.g. He lots of fun and
this knowledge as needed full of surprises.)
Level of comprehension: Literal

Estimated level of difficulty: 1
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The item:

Amit likes working with teenagers because .

Item characteristics:

Open (sentence completion)

Considerations when designing the item:

To assess the ability to identify a cause-result relationship. Pupils are asked to find the

cause.

Following analysis of pupils’ performance:

] Pupils who answered correctly have successfully identified the cause-result
relationship.

(] The answer “He lots of fun and full of surprises” may indicate a general understanding
of what is required, however the pupil has not explained that it is the teenagers who are

fun and not Amit.

Items 3.3.a-b 33.a 3.3.a-0,2
Benchmark: Answer: 3.3b-0,2
Understand the main ideas and 2 = the pupils

supporting details in a text and use 0 = other (e.g. teachers)
this knowledge as needed
Level of comprehension: Literal 3.3.b
Estimated level of difficulty: 2 Answer:
2 = what they (the pupils) learn
in history or geography
0 = other (e.g. what they like)
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The item:
Who does Amit talk to when he plans a trip and what does he want to know about the

pupils? Complete the table. Two answers are done for you.

Item characteristics:

Open (table completion)

Considerations when designing the item:
To assess the ability to identify the relationship between the speaker and what he or she

said.

Following analysis of pupils’ performance:

] To answer this item, pupils need to be able to: (a) understand the table and the relevant
content in each cell; (b) select the relevant information directly from the text or
paraphrase the relevant information.

(] Pupils who answered incorrectly may not have understood how to fill in the table

(point a) rather than not have understood the text (point b).

Item 3.4 3 = (He thinks) (it’s the) best job | 0, 3
Benchmark: (in the world) / (He thinks)
Draw inferences in order to (it’s) fun

identify the points of view in a text, | 1 = “I have the best job in the
distinguishing fact from opinion world.”

Level of comprehension: Inference 0 = other (e.g. Amit think of his
Estimated level of difficulty: 2 job as a tour guide in the

world.)
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Item Information

| Answer Key | Scoring Range

Sample analysis of this item

The item:

What does Amit think of his job as a tour guide?

Item characteristics:

Open (question)

Considerations when designing the item:

To assess the ability to make an inference from information in the text. Amit is asked the

question “What is your favorite place?”” — he wasn’t asked why he likes his job or what he

thinks of his job. In Amit’s response to Ron’s question he does not answer directly about

his favorite place as there are so many. However he does say that he has “the best job in

the world”. Pupils must understand that “best” infers something positive, and thus he has a

positive view of his job.

Following analysis of pupils’ performance:

(] Pupils who answered correctly have successfully made the inference regarding what

Amit thinks of his job.

(] The answer “Amit think of his job as a tour guide in the world” may indicate that the

pupil has copied the question stem (this may be what the pupil has been taught to do

in order to give a full answer) and added on in some manner, but has not provided a

complete answer to the question.

] Pupils who answered incorrectly may either not have understood the question or may

not have been able to make the inference.

Item 3.5

Benchmark:

Identify different text types and use
this knowledge as needed

Level of comprehension: Integration
Estimated level of difficulty: 2

3 = a newspaper 0,3
0 = other
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The item:

The interview with Amit was in .

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:
To assess the ability to identify text type (a newspaper) based on extra-textual features and

headline.

Following analysis of pupils’ performance:
a newspaper: Pupils who answered correctly have clearly identified the text type.
a guidebook: Pupils who answered incorrectly and chose this distractor related to
the overall topic of the text.
a teen magazine: Pupils who chose this distractor may have been confused
between a newspaper and a magazine and did not read the headline.
an ad for a tour: Pupils who chose this distractor may have also confused text

types and / or related to the general topic of the text.
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Task 4

Discourse features (text description)
Text type: News report and book of records.
Topic: A shoe for an elephant.
Linguistic aspects of text: high frequency vocabulary, basic sentence structure, use of imperative form.
Length of texts: Text 1 — approximately 130 words.
Text 2 — approximately 50 words.

Analysis of the text:

This task includes two texts that relate to the same topic but are different text types. The ‘News
Report’ follows a narrative structure and the ‘Book of Records’ is an informative text. One of the main
purposes of using two texts was to assess the pupils’ ability to integrate information from two related
texts.

The topic of both texts is a ‘shoe for an elephant’. This topic may not necessarily be familiar to all
pupils, however animals usually are a topic of interest for most. The fact that an elephant needs a shoe
is a ‘twist’ on the usual expectations and was chosen to arouse the curiosity of the reader.

The considerations in designing this text were as follows:

(a) pupils are familiar with the structure and purpose of narratives and informative texts.

(b)as a ‘News Report’, the first text describes the setting (place and characters), sequence of
events (the problem and its resolution). The text is also characterized by the use of the past
simple tense and extensive use of pronouns which requires the understanding of referencing.

(C)as an informative text, the ‘Book of Records’, reports the facts related to the shoe itself and
thus makes use of mainly the past simple tense.

(d)efforts were made to make the texts look as authentic as possible, considering the limitations of
color, space and graphics.

Item description

Number of test items:

Item types: Multiple-choice: 1 item, 4 options.
Open: 2 items.
Open (sentence completion): 1 item.
Open (table completion): 3 items.

Total points for task: 20

Administration

Encourage pupils to read the instructions (instructions appear in English and Hebrew/Arabic), to
familiarize themselves with the extra-textual features of the text prior to reading the test items and to
check their answers after completing the task.
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Item Information

Answer Key

Scoring Range

Item 4.1

Benchmark:

Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Literal
Estimated level of difficulty: 3

4 = She/The elephant/Gilda had
a sore (on her foot / leg). She
needed to protect her foot / leg
/ sore.

2 = a sore; protect; Gilda / The

elephant / She need a shoe
because she not can to go.

0 = other (e.g. to protect her)

0,2,4

Sample analysis of this item
The item:
Why did Gilda need a shoe?

Item characteristics:

Open (question)

Considerations when designing the item:

To assess the ability to identify the relationship of cause-result. Pupils are asked to identify

the reason the elephant needed the shoe.

Following analysis of pupils’ performance:

(] Pupils who answered correctly have clearly identified the cause-result relationship.

1 Pupils who received a partial score have shown a general understanding of what is

required, however their answers may not have been specific enough. For example, the

answer “Gilda need a shoe because she not can to go” indicates an understanding of the

reason for Gilda needing a shoe; however the lexical and grammatical mistakes here

detract from the precise answer even though the answer provides an indication of a

very general understanding.

[l Pupils who answered incorrectly with an answer such as “to protect her” may have

had some understanding of the text; however this answer is too general and therefore

unacceptable.
Item 4.2 3 = He makes shoes. 0,3
Benchmark: 0 = other

Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Literal

Estimated level of difficulty: 2
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The item:
What do we know about Mr. Smith?

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:
To assess the ability to identify a supporting detail that is necessary in order to follow the

sequence of events.

Following analysis of pupils’ performance:
He makes shoes.: Pupils who answered correctly have clearly identified the
supporting detail and its role in “telling the story”. They have also understood the
lexical issue that a shoemaker makes shoes.
He works at the zoo.: Pupils who answered incorrectly and chose this distractor
may have related to the setting of the incident.
He is a doctor.: Pupils who chose this distractor may have misunderstood the
sentence structure: “the doctor called Mr. Smith” as the “the doctor is called Mr.
Smith”.
He doesn’t feel well.: Pupils who chose this distractor may have related to the

issue of a doctor who is consulted when one doesn’t feel well.

Item 4.3 4 = He (the shoemaker / Mr. 0,2,4
Benchmark: Smith) had never heard of
Understand the main ideas and shoes for elephants; Because
supporting details in a text and use he
this knowledge as needed needed to make a shoe for an
Level of comprehension: Literal elephant
Estimated level of difficulty: 3 2 = Gilda / elephant needs a shoe
0 = other (e.g. for an elephant;
because the doctor asked
him to make a shoe)
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The item:

Why was the shoemaker surprised when the doctor called?

Item characteristics:

Open (question)

Considerations when designing the item:
To assess the ability to identify the relationship of cause-result. Pupils are asked to identify

the reason the shoemaker was surprised.

Following analysis of pupils’ performance:

(] Pupils who answered correctly have identified the cause-result relationship.

] Pupils who gave a partial answer may have a general understanding but have not been
able to clearly identify the cause-result relationship.

] Pupils who answered incorrectly may not have understood the question or they could
not identify the reason. Answers such as “for an elephant”, or “because if Gilda walked
on the dirt” are difficult to analyze as it is not really clear how pupils may have arrived
at these answers. The examples reflect types of responses that could have been copied

directly from the text.

Item 4.4 3 = a shoe for an elephant; the 0,2,3
Benchmark: biggest shoe in the world
Understand the main ideas and 2 = shoe(s); elephants

supporting details in a text and use 0 = other (e.g. Gilda; the

this knowledge as needed elephant; Book of Records;
Level of comprehension: Integration information)

Estimated level of difficulty: 3
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Item Information

| Answer Key | Scoring Range

Sample analysis of this item
The item:
Complete the sentence.

Both texts are about .

Item characteristics:

Open (sentence completion)

Considerations when designing the item:

To assess the ability to integrate information from two texts and identify the common topic.

Following analysis of pupils’ performance:

] Pupils who answered correctly have integrated the information from both texts and

identified the common topic.

I Pupils gave a partial answer may have related to a very general aspect of the two texts

(e.g. ‘shoes’ or ‘elephants’) but have found the topic common to both texts.

(] Pupils who answered incorrectly may not have understood the question or have related

to the topic of only one of the two texts.

Items 4.5

Benchmark:

Extract relevant information for
a specific purpose from different
sources

Level of comprehension: Literal
Estimated level of difficulty: 1

Total range: 0-3
a. (In the News Report and a—-0,1
\ (In the Book of Records)

b. v (In the News Report) b-0,1

c.V (In the Book of Records) c-0,1
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The item:

In which text, or texts, can you find this information?

Item characteristics:

Closed (table completion with tick / no tick)

Considerations when designing the item:

To assess the ability to locate specific information in a text or texts.

Following analysis of pupils’ performance:

The interpretation of pupil performance on this task is limited — the pupils either located

the information in the appropriate text(s) or did not.
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Task 5

Discourse features (text description)

Text type: Narrative.

Topic: School trip.

Linguistic aspects of text: high frequency vocabulary.
Length of text: 50- 70 words.

Item description

Number of test items: 1

Item type: Open (paragraph).
Total points for task: 10

Administration
Encourage pupils to read the instructions (instructions appear in English and Hebrew/Arabic) and to
write clearly.

The rubric included in this task focuses more on communicative ability than accuracy and thus allows
for a certain level of tolerance for errors in accuracy. However, pupils should be encouraged to check
their grammar, spelling, punctuation and capitalization.

Item Information and Answer & Scoring Key

Item 5

Benchmark:

[J Express ideas and opinions about general topics and experiences using main and
supporting ideas

Estimated level of difficulty: 2

Rubric
Task Item # Item Type Answer Key Scoring Range
5_CA Communicative Ability | OP See instructions below 0-6
5_AC Accuracy 0] See instructions below 0-4

Evaluate the task according to the scale below, which describes writing performance
at different levels: 6, 4 and 2 for Communicative Ability and 4, 2, and 1 for Accuracy.
The intermediate levels (5 and 3) are for levels of writing that fall between the detailed
descriptions. The pupils should receive one grade for Communicative Ability and one

grade for Accuracy for the entire task.
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Communicative Ability Accuracy

¢ The information is relevant * Correct simple sentence
to the topic structure (subject, verb
* The message is clear. and correct word order)
* The text is organized : Occasional errors in
* Vocabulary is varied and compound or more complex
appropriate 6 sentences if attempted 4

* Mostly correct subject-verb
agreement, tense, pronouns,
articles, and prepositions

* Mostly correct spelling,

punctuation, and capitalization

* Most information is : * Inconsistent use of simple :
relevant to the topic sentence structure (subject,

* The message is mostly clear verb and correct word

* The text is mostly order); Errors in compound
organized ! or complex sentences if

* Vocabulary is adequate and attempted
is generally appropriate * Some errors of subject-verb 2

agreement, tense, pronouns,

articles, and prepositions
3| Some errors in spelling,

punctuation, and capitalization

¢ Information is limited and * Incorrect sentence structure
/ or mostly irrelevant to the * Many errors of subject-verb
topic agreement, tense, pronouns, articles,

* Message is difficult to 5 and prepositions 1
follow OR

* Vocabulary is limited * Not enough language to assess

¢ Less than 25 words. accuracy

Only copies instructions.

Writes set(s) of isolated word/s. 0

Does not write in English.
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Sample Pupil Performances with Analysis

Pupil Performance
the kids’ got on a bos.

They going to the trip is galil.

Communicative ability: 1

The information is limited.

Less than 25 words.

Accuracy: 1

Not enough language to assess accuracy.
Insights from performance:

This level of writing is not what is expected from pupils in the eighth grade. Therefore it is

recommended that the teacher encourage such pupils to write using very structured tasks.

Pupil Performance

the class is travald in the galill. They drove on the bus on the school. They climbed on the
motined, and the evening they made a campe and ate the diener sudenley drove the home

because the wither.

Communicative ability: 3

All information is relevant to the topic, the message can be understood however the

organization is limited which leads to limited clarity.
Accuracy: 2

There are three main criteria at this level according to the rubric — sentence structure
(simple structure / compound and complex structure), subject-verb agreement, and
spelling/punctuation/capitalization. On close inspection the pupil has used mostly correct
sentence structure and correct subject-verb agreement. Thus he or she mainly has errors in

spelling/punctuation/capitalization.
Insights from performance:

The pupil has a basic understanding of language on the sentence level, however has not

demonstrated an understanding of an integrative text, which requires organization.

The multiple mistakes in spelling/punctuation/capitalization create the impression that
a lower score should have been given for accuracy. However as spelling/punctuation/
capitalization is considered one criteria out of three, the performance was rated with a

score of 2 rather than 1.
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Pupil Performance

Me and my class got on the bus and drove to the Galilee.
We hiked on a mountain and than it started raining.

then we sat down and had lunch and than the rain stoped.

We had a lot of fun but after the trip all of us got sick and did not go to school.

Communicative ability: 5

All information is relevant to the topic, the message is clear and there is a central theme
to the text/story. There is a narrative structure which also includes a cause and effect

relationship.
Accuracy: 3

Correct sentence structure and subject-verb agreement, correct tense. Mostly correct

spelling/punctuation/capitalization.
Insights from performance:

The text provides evidence that the pupil has an understanding of narrative text structure.
The sequence of events is clearly stated. It would appear that the pupil has a clear idea

as to the requirements of punctuation and capitalization — these appear in three out

of the four sentences. The cause and effect relationship is interesting and shows an
understanding of integrating events. Note that the spelling mistake “than” is not consistent

— the word is sometimes spelt correctly.

Pupil Performance

At Sunday, May 18th we went to a trip at the Galil. We all had to be at school in 6.AM.
So we coulde be in the Galili in time. At 8 AM we were already doing hiking with our
teacher. that was really sad because her shosh got derty. Later we were having a exelent
meal in the woods. Sadenly a rain started. We all started to go back to the bus and left our

meals in the forest.
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Communicative ability: 6

The information is not only relevant but also detailed. The text is clear and organized, and

the pupil has used varied vocabulary.

Accuracy: 4

Sentence structure is correct and the pupil has used complex sentences relatively

successfully.

Insights from performance:

The pupil clearly understands the structure of a narrative text and has given the reader a
sense of time by using cohesive devices (connectors and markers of time) and the use of

tenses (e.g. past progressive for setting).

The highest grade of 6 in communicative ability reflects the fact that the pupil has created
a cohesive text and has also provided interesting details, such as justifying the reason for
leaving school early. Furthermore the pupil has demonstrated a sense of humor in writing
“left our meals in the forest”, and a sense of empathy towards the teacher (in mentioning
that “it was really sad” that her shoes got dirty). Even though it would appear that the
grade on accuracy should be lower, it is recommended to look beyond the errors in
spelling. The student has written complex sentences, using mostly correct tenses (e.g. past

progressive), prepositions and cohesive devices (connectors and markers of time).

Pupil Performance

The 8" grade class at city junior High school went on a trip to the Galilee. They drove in a
bus, and later they went in a grop. In 3 aclock they eat lunch together. sudenly started rain

and everybody get run and have fun.

At 7oclock they get home and go to eat dinner, and go to sleep.
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Communicative ability: 3

Though the information is relevant, there is a problem with organization.
Accuracy: 2

Inconsistent sentence structure with errors in tense and spelling.

Insights from performance:

Overall this text suggests that the pupil has not yet developed an understanding of a text
and is functioning on a level of the individual sentence. Although each individual sentence
may make sense in itself, the sentences appear to be strung together and thus the pupil

has not created an integrative text. The message is not completely clear as there is no real
text structure or a feeling of an integrative text. Furthermore, there is a childish sense of

a daily schedule (“get home...eat dinner...sleep”) which may reflect chunks of language
that have been internalized. The use of irregular verbs in past tense “eat”, “get run” — but
“went” and “drove” may reflect that some irregular verbs have been internalized and some

haven’t. Note that the first sentence is copied from the instructions.

Pupil Performance

In Sunday morning I and my class went to a trip in Galil

At the beginning we ate our breakfast, then we went to hike, there was raining and we
didn’t have umbrella to nobody, but it was fun.

In the end of the trip, it was late and were very tired.

The trip was tiring and exhausting but in the end it felt fantastic.
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Communicative ability: 4
The information is relevant though the text is not completely clear or organized.
Accuracy: 4

Sentence structure is correct and the pupil has used complex sentences relatively
successfully.

Insights from performance:

The level of accuracy in this text is high — there is a clear sense of sentence structure
which includes complex sentences, use of tenses and adjectives. Most of the errors in this
text are in the complex sentence structure which pupils are not expected to have mastered
at this level. This pupil appears to have good control of grammatical structures but

needs to pay more attention to building an integrative text (which involves organization
and clarity). Each sentence appears on a separate line which also reflects a lack of
understanding of an integrative text, i.e. paragraph structure.

Task 6

Discourse features (text description)

Text type: Magazine article.

Topic: Cleaning up our beaches.

Linguistic aspects of text: high frequency vocabulary; simple and compound sentences; direct speech;
tenses: present simple, present progressive, future simple.

Length of text: Approximately 300 words.

Analysis of the text:

This is a feature article (expository text) that could appear in a magazine. Often, expository texts
present factual information without the explicit expression of opinion. However in this text, the writer
is not only reporting facts but is himself personally involved. The topic may appear to be simple,

1.e. the beach, however it actually deals with an environmental issue: keeping the beaches clean. It
also contains the message that everyone can do their part in keeping the beaches clean. This message
is contained in the opinion expressed by the writer; therefore pupils need to be able to distinguish
between fact and opinion.

The considerations in designing this text were as follows:

(a) pupils are familiar with the structure and purpose of an expository text.

(b)each paragraph presents a main idea that is supported by several examples. The extended use of
examples supports the identification of the main ideas.

(C) the text is primarily in the past tense, there is some use of cohesive devices (connectors) which
require the understanding of the relationship between ideas and propositions. There is an
extensive use of compound and complex sentences.

(d)efforts were made to make the texts look as authentic as possible, considering the limitations of
color, space and graphics.
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Item description
Number of test items: 7
Item type: Multiple-choice: 3 items, 4 options.
Open: 3 items.
Open (sentence completion): 1 item.
Total points for task: 22

Administration

Encourage pupils to read the instructions (instructions appear in English and Hebrew/Arabic), to
familiarize themselves with the extra-textual features of the text prior to reading the test items and to
check their answers after completing the task.

Item Information Answer Key Scoring Range
Item 6.1 3 = trash on the beach 0,3
Benchmark: 0 = other

Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Integration

Estimated level of difficulty: 2
Sample analysis of this item

The question:

What problem does the writer write about?

Item characteristics:
Closed (multiple-choice)

Considerations when designing the item:

To assess the ability to identify the topic of the text and its connection to the problem.
This is central to the text and pupils need to be able to distinguish it from the various
supporting details and information mentioned in the text.

Following analysis of pupils’ performance:
the trash on the beach: Pupils who answered correctly have clearly identified the
topic which is stated in the first paragraph.
cleaning up the school: Pupils who answered incorrectly and chose this distractor
may have related to the fact that the writer had spoken to his friends at school and
also to other kids at school (in the last paragraph).
working in hot weather: Pupils who chose this distractor may have picked out a
supporting detail from the text without considering its marginality.
dangers in the sea: Pupils who chose this distractor may have picked out a
supporting detail from the text without considering its marginality.
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Item Information

Answer Key

Scoring Range

Item 6.2

Benchmarks:

Understand the main ideas and
supporting details in a text and use

this knowledge as needed

Understand the structure and
conventions of different text types
and use this knowledge as needed
Level of comprehension: Integration
Estimated level of difficulty: 3

3 = Mark Halloway;
the writer (and his
friends); the boy
and his friends

0 = other (e.g. kids; instead of

complaining)

0,3
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The question:
Who started the Beach Kids?

Item characteristics:

Open (question)

Considerations when designing the item:
To assess the ability to integrate information both from external text features and text
content. In order to identify those who started the Beach Kids, one needs to understand

that the writer of the article is describing his personal experience as the initiator of the

group.

In addition, this question also provides an indication of the pupil’s ability to use the
features of different text types, in this particular case, the by-line of an article to identify
the writer. Pupils familiar with the function of a by-line should be able to identify the
writer of the article. Furthermore, the text itself is written in first person, thus providing an

additional indication of the writer’s identity.

Following analysis of pupils’ performance:

(] This item would have been expected to be relatively easy. However, the results of the
test pilot and the subsequent item analysis have shown that the level of difficulty was
much higher than expected. From this it was concluded that many pupils do not use
text features when answering questions of this nature but rather rely primarily on the
text itself. This may explain why pupils may still have found it difficult to connect
between the identity of the writer and the fact that he is writing about his own personal
experiences.

[J An incorrect answer such as “instead of complaining” may indicate a lack of
understanding of the question word “who” and the answer relating to the reason rather

than the agent.

Item 6.3 4 = clean (up the beach); 0,2,4
Benchmark: collect [trash / garbage /

Understand the main ideas and rubbish]

supporting details in a text and use 2 = clean; collect

this knowledge as needed 0 = other (e.g. walk along the

Level of comprehension: Literal beach; every summer;

Estimated level of difficulty: 2 clean up the sea)
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The question:

The Beach Kids meet every Friday morning to ___.

Item characteristics:

Open (sentence completion)

Considerations when designing the item:
To assess the ability to identify the purpose of the group’s meeting at the beach on a

regular basis.

Following analysis of pupils’ performance:

I Pupils who answered correctly have identified the purpose for the Beach Kids’ regular
meetings.

(] Pupils who answered incorrectly may not have understood what is expected of them,
especially as it is a sentence completion. One level of an incorrect answer may reflect
a lack of understanding or attention to the preposition “to” which in the question item
marks purpose.

(] An example of an incorrect answer on a lexical level such as “clean up the sea”
exemplifies where an incorrect word changes the meaning of the answer (e.g. the word

“sea” versus the word “beach”), thus making the answer unacceptable.

Item 6.4 2 = jump into the 0,1,2
Benchmark: water; went for a
Understand the main ideas and swim; swim; have
supporting details in a text and use fun
this knowledge as needed 1 =fun
Level of comprehension: Literal 0 = other (e.g. It felt good to
Estimated level of difficulty: 3 have fun after all that hard
work; clean it)
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The question:
What was the last thing the Beach Kids did at the beach?

Item characteristics:

Open (question)

Considerations when designing the item:

To assess the ability to follow the sequence of events and identify the final event.

Following analysis of pupils’ performance:

] Pupils who answered correctly have identified the final event of the sequence.

] Incorrect answers such as, “clean it”, or “they plan to collect the trash again but we
hope that other teenagers will join us,” may indicate a lack of understanding of the
sequence.

[J' The answer “we jumped into the sea and went for a swim...” is correct in principle,
however the pupil has not changed the first person into third person and therefore the

answer is considered incorrect.

Item 6.5 4 = filled more than 40 bags of | 0, 2, 4
Benchmark: [trash / garbage / rubbish];
Understand the main ideas and worked for over 30 hours;
supporting details in a text and use cleaning up wasn’t easy;
this knowledge as needed bags were heavy;
Level of comprehension: Inference 2 = hard work; collected
Estimated level of difficulty: 3 [trash / garbage / rubbish];
cleaning up
0 = other (e.g. We met to clean
up the beach.)
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The question:

How do you know that there was a lot of trash on the beach?

Item characteristics:

Open (question)

Considerations when designing the item:

To assess the ability to make a low level inference. It is not specifically stated in the text
that there is a lot of trash, but rather there is mention of: (a) the Beach Kids filling ‘40
bags’ with trash and (b) that the work ‘wasn’t easy’ which can only be the case if there is
a lot to clean up and (c) they worked for three hours. All of these examples support the

assumption (inference) that there was a lot of trash.

Following analysis of pupils’ performance:
(] Pupils who answered correctly have made the inference.
(] Pupils who answered incorrectly may not have been able to infer from the text.
Some errors may indicate that the pupils have related to the idea in a general way, for

example the answer “hard work™, rather than giving an example of what was really

involved.
Item 6.6 3 = when people 0,3
Benchmark: keep the beach
Understand the main ideas and clean
supporting details in a text and use 0 = other

this knowledge as needed
Level of comprehension: Literal
Estimated level of difficulty: 3
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Item Information | Answer Key | Scoring Range

Sample analysis of this item
The question:

When will the writer be able to have a good time at the beach?

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:

This task was designed to tap the pupils’ ability to identify a supporting detail.

Following analysis of pupils’ performance:
when people keep the beach clean: Pupils who answered correctly identified
the supporting detail, paying attention to the time frame through the connector
“when”.
when the summer vacation is over: Pupils who answered incorrectly and chose
this distractor may have related to the words “next summer” and picked up on their
own world knowledge, experience and / or personal assumptions.
when other teenagers help clean up: Pupils who chose this distractor seem to
have been relating to only one specific aspect and haven’t made the generalization
that keeping the beach clean is not restricted to teenagers only.
when his friends do the work for him: Pupils who chose this distractor appear to

have a general misunderstanding of the text and the writer’s intentions.

Item 6.7 3 =Teens Who Care 0,3
Benchmark: 0 = other
Understand the main ideas and
supporting details in a text and use
this knowledge as needed

Level of comprehension: Inference
Estimated level of difficulty: 3
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Item Information | Answer Key | Scoring Range
Sample analysis of this item

The question:

Another name for the article could be __ ?

Item characteristics:

Closed (multiple-choice)

Considerations when designing the item:

To assess the ability to infer the main idea of a text.

Following analysis of pupils’ performance:
Teens Who Care: Pupils who answered correctly have clearly inferred the main
idea and understand that the main idea is often reflected in the title.
Our Summer Vacation: Pupils who answered incorrectly related to the setting of
the article.
Fun at the Beach: Pupils who answered incorrectly may have related to their prior
knowledge that it is fun to go to the beach and the word ‘beach’ appears in the title.
Teens Win a Prize: Pupils who answered incorrectly may have related to a
specific detail (a prize from the Mayor) and made a generalization that if they

received a prize it reflects the main idea of the text.

Task 7

Discourse features (text description)

Text type: Composition.

Topic: A favorite place.

Linguistic aspects of text: high frequency vocabulary, word order, use of tenses, concepts of print.
Length of text: 80 - 100 words

Item description
Number of test items: 1
Item type: Open.

Total points for task: 10

Administration

Encourage pupils to read the instructions (instructions appear in English and Hebrew/Arabic).
Encourage pupils to write clearly. The rubric included in this test focuses on both on communicative
ability and linguistic accuracy. Pupils should be encouraged to check their grammar, spelling,
punctuation and capitalization.
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Item Information and Answer & Scoring Key

Benchmark:

ideas
Estimated level of difficulty: 3

Express ideas and opinions about general topics and experiences using main and supporting

Rubric
Task Item # Item Type Answer Key Scoring Range
7_CA Communicative Ability | OP See instructions below 0-5
7_AC Accuracy 0] See instructions below 0-5

Accuracy for the entire task.

Evaluate the task according to the scale below, which describes writing performance
at three levels: 5, 3 and 1 for both Communicative Ability and Accuracy. The
intermediate levels are for levels of writing that fall between the detailed descriptions.

The pupils should receive one grade for Communicative Ability and one grade for

Communicative Ability

Accuracy

* The information is relevant
to the topic

* The message is clear.

* The text is organized

* Vocabulary is varied and

* Correct simple sentence
structure (subject, verb
and correct word order)
; Occasional errors in

compound or more complex

is generally appropriate

appropriate 5 sentences if attempted 5
* Mostly correct subject-verb
agreement, tense, pronouns,
articles, and prepositions
* Mostly correct spelling,
punctuation, and capitalization
4 4
* Most information is * Inconsistent use of simple
relevant to the topic sentence structure (subject,
* The message is mostly clear verb and correct word
* The text is mostly order); Errors in compound
organized or complex sentences if
* Vocabulary is adequate and 3 attempted 3

* Some errors of subject-verb
agreement, tense, pronouns,
articles, and prepositions

e Some errors in spelling,

punctuation, and capitalization
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* Information is limited and : * Incorrect sentence structure :
/ or mostly irrelevant to the * Many errors of subject-verb
topic agreement, tense, pronouns, articles,
* Message is difficult to and prepositions
follow ! OR !
* Vocabulary is limited * Not enough language to assess
* Less than 30 words accuracy

Only copies instructions
Writes set(s) of isolated word/s 0

Does not write in English

Sample Pupil Performances with Analysis

Pupil Performance

My favorite place it is at home. Play on the computer cn With my friends ana play online
same. i play on the comput about 3-5 hours in a day and i like to surf on the internet i do it

because its fun and i like it

Communicative ability: 1

The information is limited and mostly irrelevant to the topic.

Accuracy: 2

Inconsistent sentence structure with errors in tense and spelling.

Insights from performance:

The pupil mentions that his or her favorite place is home, however this is not supported
by relevant details. Instead the pupil describes his or her favorite activity. As a result,
although the message may be somewhat clear it is not relevant to the task.

Inconsistent sentence structure reflects emerging understanding of sentence structure.
Note the use of simple sentence structure in the present simple. However there seems
to be a lack of understanding of concepts of print (capitalization and punctuation). It is

interesting that words related to computers are spelt correctly (i.e. online, surf, internet).
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Pupil Performance

I don’t have one favorite place. I have alowt places.

Firsat-with animals, cut and doges, seknds-my room with my music and jest think, or see
a good movie.

Allsowe I love to play with my friends or took with them. I love the pool/beacj, it is fun to
swim and dive. I love to ride alowt, it is just make me calm.

I can say that my favorite place is at home, my room.

Communicative ability: 2

Information is limited and mostly irrelevant to the topic, therefore it is difficult to judge
vocabulary, as it may be appropriate to the topic he or she chose, but it is not related to the

requirements of the task.
Accuracy: 3

There is a sense of sentence structure, however it would seem that the pupil is working
within a set template (i.e. [ like...I'love...I can...). Spelling mistakes in vocabulary items
that eighth grade pupils are expected to know (e.g. cut-cat, doges-dogs). Other spelling

mistakes cause confusion (e.g. took-talk).

Insights from performance:
The reader has to make an effort to understand the text because it lacks organization and

includes irrelevant information, and spelling mistakes that interfere with comprehension.

Pupil Performance

I’m love going to party and danse on my friends.
In the last week I were in the party and was very fan.

all my friends danser and scream. I love party because I’'m meet friends and visit.
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Communicative ability: 2

Information is relevant but limited as is the vocabulary.

Accuracy: 2

Although there appears to be a basic sense of simple sentence structure there are many

errors of subject-verb agreement and use of tenses.

Insights from performance:

The text reflects an attempt to string familiar words together, without much attention to
sentence structure or correct grammar. The sentences seem to “stand alone” and thus do
not create an integrative text. There seem to be consistent errors, e.g. “I’m love..” and
“I’m meet..” and this could be evidence of fossilization and thus special attention should

be paid to using the correct form.

Pupil Performance

My favorite place is the beach.

I'love to go with friends to the beach and make fun.

We spend most of the time get sun, we love it very much

We also swim in the water, eat and talk of course.

I'love to go to the beach with my family too.

With my family we go usually on suterday to the beach.

With my family we also eat foods like fruit.

So at the end my favourite place is the beach that I go with my friends and sometimes

with perents to the beach and make fun.
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Communicative ability: 5

The information is relevant and detailed. The text is organized and includes an opening

and closing sentence. Vocabulary is varied and appropriate.

Accuracy: 3

The main problem is word order, especially in the sixth and seventh sentences that do not

follow standard English word order.

Insights from performance:

Note that each sentence appears on a separate line, indicating that perhaps the pupil does
not have a developed sense of paragraph structure even though he or she has paid attention
to organization. Another issue is the problematic word order which does not appear to
reflect Hebrew word order. A teacher who knows the pupil may know if this is a function

of L1 interference or another language problem.

Pupil Performance
My favorite place is Eilat.
Because I live in Eilat.

and my good firenad’s in Eilat.

Communicative ability: 1

The information is limited.
Less than 30 words.
Accuracy: 1

Not enough language to assess accuracy.

Insights from performance:
This level of writing is not what is expected from pupils in the eighth grade. Therefore it is

recommended that the teacher encourage such pupils to write using very structured tasks.
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Pupil Performance

Everyone has a favorite place. Some people like to go to the beach. Other people like

to stay at home. and there’s people how like to be at friend’s house. I like to be at me
home, I have there everything I love: my mother. father. big brother and my dog. There is
everything I want too: food. T.V. computer and the most importent my bed!!!

I'love my bed. it’s big and soft.

Communicative ability: 5

Information is relevant and detailed. The text is organized, beginning with a topic sentence

that relates to a generalization which is clearly supported.
Accuracy: 5

Correct sentence structure and correct use of compound sentences; notice the use of colon

in punctuation.

Insights from performance:
Performance indicates that the pupil has a clear understanding of paragraph structure,
evidenced by the topic sentence, main idea and support. The content is interesting in as

there is first a mention of the people that are close to the pupil, and then of his or her

physical needs. The performance is what would be desirable of all pupils in eighth grade.
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